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function main(insight) {
var celllndex = 0; //0
hi deACol um(i nsi ght, celllndex);

}

/1

function hideACol um(insight, celllndex) {
var newtabl es = new Array();

var table = insight.grid.nainTable;
tabl e. styl e. backgroundCol or = "rgba(255, 255, 255,0)"; //tabl el
var columSi ze = insight.grid. getColumsSi ze();

var tr = table.tBodies[0].firstChild;
var row ndex = 0;
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while (tr) {
if (tr.tagName == "TR") {
var td = tr.lastChild;
var col uml ndex = col umSi ze - 1,
var row = newt abl es[rowl ndex] = [];
while (td) {
if (td.tagNane == "TD") {
for (var y = 0; y < td.col Span; y++) {
row col umlndex - y] = td;
}
col uml ndex = col uml ndex - td. col Span;
td = td. previousSibling;
}
rowl ndex++;
tr = tr.nextSibling;
}

var length = newtabl es. | ength;
var hideColums = [celllndex]; //0
insight.grid. custonH deCol uims = hi deCol umms;
for (var i =0; i < length; i++) {

var row = new abl es[i];

if (row & row.length > 0) {

I* *]
for (var ci in hideColums) {
var indexi = hideColums[cil];

if (rowindexi]) {
var nn = row i ndexi];
if (nn!=null) {

if (nn.getAttribute("isAgg") !'="1") {
nn.style.display = "none";
nn.setAttribute("isH deCol um", "1"); //
} else {

if (nn.col Span >= 2) {

nn. col Span = nn. col Span - 1,
} else {

nn.set Attribute("i sH deCol um", "1");
}

RPN R 4E

o SRIHITHENT S grid. getCell (m, celllndex);
o WEATFAM: cell. style.display = “none”;

IR N
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HYE: migrate. xml


https://history.wiki.smartbi.com.cn/download/attachments/51942949/migrate%20%2876%29.xml?version=1&modificationDate=1591942670000&api=v2

	透视分析如何实现隐藏列？

